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What Happened to the Baseball Player Who Was Unfaithful to His Wife?
Write the trinomial in factored form. Find the factors in the two columns of binomials. Onefactor will have
a letter and the other a number. Write the letter in the matching numberedboxat the bottom of the page.
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b. 2x2 + 7x + 3

e (x + 2)
(!) (x + 1)
e (2x + 3)
O(7x-2)
e (2x +1)

e (3x - 2)
4D (3x -1)

c. 7x2 - 9x + 2

d. 3x2 - 16x + 5

e. 6x2 + llx + 3

Set 2. Answers

G> (3b + 2)
(9 (4b -1)
e (2b +1)

e (b + 2)
o (3b -1)
G)(b+8)
o (8b -1)

b. 8b2 - 9b + 1

e. 6b2 + 13 b + 2

d. 12b2 - 13b + 3

e. 3b2 + 14b + 8

o (x -1)
e (2x -1)

o (x + 3)
o (x - 5)

G (3x + 2)
G (7x +1)

o (3x +1)

G (2h+3)

o (4b - 3)
G (b -1)
o (b + 4)
o (6b +1)

e (4b +1)

o (3b + 4)

5 6 7 81 234 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25

b. 2k2 - 5k - 3

o (k - 2)
fl) (7k + 2)
e (k - 3)
fI!) (2k - 3)
e (k -1)
(9 (5k -1)
G> (2k -1)

c. 3k2 + 2k - 5

d. 7k2 -13k - 2

e. 10k2 - 3k -1

b. 5v2 + 18v - 8

e (5v + 4)
e (4v - 3)
fI!) (2v - 5)
e (s» +1)

fD (2v -1)
fl) (v +4)
e (3v - 2)

c. 4v2 - 15v + 9

d. 3v2 + 16v - 12

e. 8v2 - 14v - 15

e (2k +1)

• (3k + 5)
G (10k -1)

o (k + 1)

o (5k +1)

G (7k +1)

e (3k - 5)

G (4v + 3)
o (5v - 2)
G (v + 6)
G (4v - 5)
G (v - 3)
• (3v - 4)
o (2v - 3)


